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QUESTION 1

Regarding the IP routing, the following correct ()? (multiple choice) 

A. Routing is the third layer concept in the OSI model 

B. IP routing is the path information that guides IP packet forwarding. 

C. Any route must include the following three parts: source address, destination address, and next hop. 

D. In the LAN, the route includes the following two parts: IP address and MAC address. 

Correct Answer: AB 

 

QUESTION 2

If there is a routing loop in the network, then the packet will be forwarded on the loop link until the loop is eliminated. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 3

Tracert records the () of each ICMP TTL timeout message, so that the user can provide the IP address through which
the message arrived at the destination. 

A. Destination port 

B. Source port 

C. Source IP address 

D. Destination IP address 

Correct Answer: C 

 

QUESTION 4

Huawei low-end switch, the default port type is () 

A. Access 

B. Trunk 

C. Hybrid 
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D. Dot1q-tunnel 

Correct Answer: A 

 

QUESTION 5

Adding a shielding layer on the outside of the twisted pair, called (), can improve the anti- electromagnetic interference
capability of the twisted pair. 

A. STP 

B. UTP 

C. BTP 

D. RPR 

Correct Answer: A 

 

QUESTION 6

Which of the following two types of interfaces can the switch be? (multiple choice) 

A. MDI 

B. MDI_S 

C. MDI_X 

D. MDI_R 

Correct Answer: AC 

 

QUESTION 7

The following description of the advantages of optical fiber as a transmission medium, what are the correct ones?
(multiple choice) 

A. Not susceptible to interference from electromagnetic signals 

B. High transmission rate 

C. The transmission distance is infinitely long 

D. Expensive 

Correct Answer: ABD 

 

QUESTION 8
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. 

The firewall must log the traffic logs that pass, but there can be no records for the rejected traffic. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 9

The following () command enables the authentication password for Telnet login on the router to be Huawei. 

A. [Quidway-ui-vty0-5] set authentication password Huawei 

B. [Quidway-ui-vty0-5] set authentication password simple Huawei 

C. [Quidway-ui] set authentication password Huawei 

D. [Quidway-ui] set authentication password simple Huawei 

Correct Answer: B 

 

QUESTION 10

The protocol converges quickly and uses the link bandwidth to calculate the best route to the destination network
segment. It is commonly used in routing protocols for medium and large networks. What are the options? (multiple
choice) 

A. BGP 

B. OSPF 

C. ISIS 

D. RIP 

Correct Answer: BC 

 

QUESTION 11

Which of the following timers is used to prevent temporary loops when the Spanning Tree Protocol handles link
failures? 

A. Hello Time 

B. Forward Delay 

C. Max Age 
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D. Message Age 

Correct Answer: B 

 

QUESTION 12

When a router calculates routing information, what are the routing protocols calculated using link overhead and other
information? (multiple choice) 

A. IS-IS 

B. BGP 

C. RIP 

D. OSPF 

Correct Answer: AD 

 

QUESTION 13

During the PPP negotiation process, if no response packet is received from the peer within the interval of the negotiation
timeout, PPP will resend the previously sent packet. Such as Configure- Request. By default, how many seconds does
the PPP negotiation timeout? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: C 

 

QUESTION 14

Which of the following devices work at the physical layer? 

A. Switch 

B. Hub 

C. Router 

D. Firewall 

Correct Answer: B 
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QUESTION 15

What is the link between the switch and the switch? 

A. Access link 

B. Trunk link 

C. Hybrid link 

D. ISL link 

Correct Answer: B 
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